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23 109 mg
[r =x]
o= ol T A JL i x 1 A hE(g)
EN £ 16 43.3%5.2 64.2+t14.6  171.0% 33.0 13.2£2.5
ar 7 — 8l 11 30.7%6.2 47.9%£10.1  304.9%136.5 9.8%2.6
& M| K 15 41.8%7.5 70.2+14.7  187.8% 50.7 14.3%+3.9
w#A WK 11 40.0%6.7 65.71+18.2 177.3% 16.4 12.8%3.8
7via R 16 37.9%5.1 61.0%15.9  171.2% 23.9 11.4%+3.3
[# =]
ro— k4 URE-E FE s i g > * B
ZS & 16 4.18+1.30  17.1%5.7 63.3%+ 16.3  169.8% 14.6
arz)—r 8 12 3.07t£0.48  12.7%2.5 48.2% 14.0  261.2%226.4
A& W K 15 4.12%£0.57  16.5%5.0 64.7t 19.0  170.9% 15.1
#®E A MRK 11 3.52%0.63  16.5%3.7 64.6%+ 13.1 168.8* 21.6
7 v ia v 16 3.87£0.99  15.0%4.8 62.4% 14.3  174.1% 16.2
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